
 

Тестові завдання з теми  «Степенева  функція» 
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Обери правильну відповідь.  
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6. Розв’яжи рівняння:  
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Тестові завдання з теми  «Степенева  функція» 

ІІ варіант 

Обери правильну відповідь.  
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6. Розв’яжи рівняння:  

xxx  1232
                                            264  x  

               

               

               

               

               

               

               

               

               

               

7. Розв’яжи нерівність: 

;135 x                                                          xxx  2752
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